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NEW QUESTION 1
Given:

1. public class Test {

2. private static class Greeset {

3. private void print{) {

4, System.out.println(“Hellc World”);
5. }-

G. b

7. public static void main(String[] args)

8. Test.Sreset 1 = new Greet();

9. i.print():;

10. }

11. }

What is the result?

A. The compilation fails at line 9.
B. The compilation fails at line 2.
C. Hello World

D. The compilation fails at line 8.

Answer: C
Explanation:
1 - publt ass Test {
2 private static class Greet {
3 - private void print() {
4 System.out.println{"Hello World")
r;l }
6 }
7 public statt d main(String[] args) {
8 Test.Greet 1 new Greet();
9 i.print();
}
L
JDK 11.0.4 L

CommandLine Arguments

Hesult
2PU Time: 0.16 sec(s), Memory: 32504 kilobyte(s)

Hello World

NEW QUESTION 2
Assuming the Widget class has a getPrice method, this code does not compile:

List widgets = List.of (new Widget (“Basic Widget”, 19.55), // line 1
new Widget (“Enhanced Widget”, 35.00),
new Widget (“Luxury Edition Widget”, 55.45)):
Stream widgetStream = widgets.stream(); // line 4
widgetStream.filter{a —> a.getPrice() > 20.00) // line 5

.forEach(System.out: :printin);
Which two statements, independently, would allow this code to compile? (Choose two.)
A. Replace line 5 with widgetStream.filter(a > ((Widget)a).getPrice() > 20.00).
B. Replace line 1 with List<Widget> widgetStream = widgets.stream();.
C. Replace line 5 with widgetStream.filter((Widget a) > a.getPrice() > 20.00).
D. Replace line 4 with Stream<Widget> widgetStream = widgets.stream();.

Answer: AD

NEW QUESTION 3
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Which interface in the java.util.function package will return a void return type?

A. Supplier
B. Predicate
C. Function
D. Consumer

Answer: D

NEW QUESTION 4
Given:

package a;
public abstract cl
i

protected abstra

ss Animal
t void walk() ;

a0 w

gt

Which two lines inserted in line 1 will allow this code to compile? (Choose two.)

A. protected void walk(){}

B. void walk(){}

C. abstract void walk();

D. private void walk(){}

E. public abstract void walk();

Answer: AE

NEW QUESTION 5
Which two commands are used to identify class and module dependencies? (Choose two.)

A. jmod describe

B. java Hello.java

C. jdeps --list-deps

D. jar --show-module-resolution
E. java --show-module-resolution

Answer: CE

NEW QUESTION 6
Examine this excerpt from the declaration of the java.se module:

module java.se |
requires transitive java.sgl;
i
What does the transitive modifier mean?
A. Only a module that requires the java.se module is permitted to require the java.sql module.
B. Any module that requires the java.se module does not need to require the java.sql module.
C. Any module that attempts to require the java.se module actually requires the java.sgl module instead.

D. Any module that requires the java.sgl module does not need to require the java.se module.

Answer: A

NEW QUESTION 7

Given:
1. interface Pastry {
7 void getIngredients():
3. 3
4. abstract class Cookie implements Pastry {}
3.
6. class ChocolateCookie implements Cookie {
/. public wvoid getIngredients() {}
8. }
9. class CoconutChocolateCockie extends ChocolateCooki
10. void getIngredients(int x) {}
11 3

Which is true?
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A. The compilation fails due to an error in line 6.
B. The compilation succeeds.
C. The compilation fails due to an error in line 4.

D. The compilation fails due to an error in line 10.

E. The compilation fails due to an error in line 7.
F. The compilation fails due to an error in line 9.
G. The compilation fails due to an error in line 2.

Answer: A

NEW QUESTION 8

Which two statements set the default locale used for formatting numbers, currency, and percentages? (Choose two.)

A. Locale.setDefault(Locale.Category.FORMAT, “zh-CN");

B. Locale.setDefault(Locale.Category.FORMAT, Locale. CANADA_FRENCH);

C. Locale.setDefault(Locale.SIMPLIFIED_CHINESE);

D. Locale.setDefault(*en_CA”);
E. Locale.setDefault(“es”, Locale.US);

Answer: BD

NEW QUESTION 9
Given:

package A;
class Test {
String name;

public Test (String name)
this.name = name;
}
public String toString/()
return name;
}
b
and

package B;
import A.Test;
public class Main {

8

public static void main(String[] args)

Test test = n

Test ("Student"™) ;

ew
System.out.println(test);

}

What is the result?

A. null

B. nothing

C. It fails to compile.

D. java.lang.lllegalAccessException is thrown.
E. Student

Answer: C

NEW QUESTION 10
Given:

public class Main {

public static void checkConfiguration(String filename)

is missing.")

b
File file = new File(filename):;
if(l!file.exists()) {
throw new Error ("Fatal Error:
+ filename + ",
H

public static void main(String[] args)
checkConfiguration("App.config"):;

System.out.println("Configuration is OK");
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If file "App.config" is not found, what is the result?

A. Configuration is OK

B. The compilation fails.

C. Exception in thread "main” java.lang.Error:Fatal Error: Configuration File, App.config, is missing.
D. nothing

Answer: B

Explanation:

"W Sl TRAD Y Iv l\ulll
€ cannot find symbol
symbol: class File
location: class Main
@ cannot find symbol
symbol: class File

location: class Main . ) : .
- theckConfiguration(String filename) (

@ - File file = new File(filename);
if(lfile.exists()) {
throw new Error("Fatal ErrorL Configuration File, '

+ filename + ", is missing.");

erson.java % Testerjava

}

public static void main(String[] args) {
checkConfiguration("App.config”);
System.out.println({"Configuration is OK");

NEW QUESTION 10

Given:
public interface A {

abstract void x():;

and

public abstract class B /* position 1 */ {
/* position 2 */
public void x() { }
public abstract void z():

and

public class C extends B implements A {
/* position 3 */
}

Which code, when inserted at one or more marked positions, would allow classes B and C to compile?
A. @Override // position 3void x () {} // position 3@Override // position 3public void z() { } // position 3
B. @Override // position 2public void z() { } // position 3

C. implements A // position 1@Override // position 2

D. public void z() { } // position 3

Answer: B

NEW QUESTION 15
Given:
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<<interface>>
= Habitat <
abstract void inhabit();

<<interface>> <<interface>>
Forest Town
default void inhabit() { ... } default void inhabit() { ... }
<<class>>
Fox

Which statement is true about the Fox class?

A. Fox class does not have to override inhabit method, so long as it does not try to call it.

B. Fox class does not have to override the inhabit method if Forest and Town provide compatible implementations.

C. Fox class must implement either Forest or Town interfaces, but not both.
D. The inhabit method implementation from the first interface that Fox implements will take precedence.
E. Fox class must provide implementation for the inhabit method.

Answer: B

NEW QUESTION 17

Given:

var numbers = List.of(1,2,3,4,5,6,7,8,5,10);
// line 1

StringBuilder sb = new StringBuilder () ;

for{int a: numbers)
sb.append(f.applv(a)l:;
sb.append (™ ™) ;

}

System.out.println(sb.toString());

Which statement on line 1 enables this code to compile?

A. Function<Integer, Integer>f=n>n* 2;
B. Function<Integer>f=n>n* 2;

C. Function<int>f=n>n* 2;

D. Function<int, int>f=n>n* 2;

E. Functionf=n>n*2;

Answer: A

Explanation:
LD

16 ~ ublic class Main {
17 = public static void main(String[] args) {
18 var numbers = List.of(1,2,3,4,5,6,7,8,9,10);
19 Function<Integer, Integer> f = n -> n * 2;
20 StringBuilder sb = new StringBuilder();
21~ for(int a: numbers) {
22 sb.append(f.apply(al),
23 sb.append(” "),
24 }
25 System.out.println(sb.toString()),
26 }
27 }
Hesult

CPU Time: 0.22 sec(s), Memory: 33056 kilobyte(s)

Z468 10 17 14 16 18 20

NEW QUESTION 22
Given the code fragment:
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public static void main(String[] args) {
List<Integer> even = List.of():;
even.add (0, -1)
even.add (0, -2)
even.add (0, -3);
System.out.println(even) ;

" E

}
What is the output?

A. The compilation fail

B. [-1, -2, -3]

C.[3,-2,-1]

D. A runtime exception is thrown.

Answer: D
NEW QUESTION 27
What makes Java dynamic?

A. At runtime, classes are loaded as needed, and new code modules can be loaded on demand.

B. The runtime can process machine language sources as well as executables from different language compilers.

C. The Java compiler uses reflection to test if class methods are supported by resources of a target platform.
D. The Java compiler preprocesses classes to run on specific target platforms.

Answer: A

NEW QUESTION 32
Given:

public class Test{
private int num =
private int div =

o =

public void divide()

try {
num = num / div;
System.out.print ("Exception”);
}
catch(ArithmeticException ae) { num = 100: }
catch (Exception e) { num = 200; }

finally { num = 300; }
System.out.print (num) ;
}
public static void main(String argsf(])
Test test = new Test|():;
test.divide();
}
What is the output?
A. 300
B. Exception
C. 200
D. 100

Answer: A

Explanation:
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1~ public class Test{
P private 1nt num il
3 private int div = 0,
4
S~ public void divide() {
b~ try {
7 num = num / div;
8 System.out.print( " Exception”);
9 }
1@ catch(ArithmeticException ae) { num = 100, }
11 catch(Exception e) { num = 200; }
12 finally { num = 300; }
13 system.out.print(num);
14 }
public static void main(5tring args(])
16 ~ {
17 Test test = new Test();
18 test.divide();
19 }
20 }
JDK 11.0.4 W In

CommandLine Arguments

Result
CPU Time: 0.15 sec(s), Memory: 32484 kilobyte(s)

300

NEW QUESTION 33

Given:
public static void main(String[] args) {
try (Reader readerl = new FileReader (“Filel.txt”):
Reader reader2 = new FileReader (“FileZ.txt”);
Reader reader3 = new FileReader (“File3 txt”))

} catch (IOException ex) {
Logger.getLogger (Main.class.getName () ) .log (Level.SEVERE, null, ex);
}
// Line 1
System.out.println (“Done”) ;
!

When run and all three files exist, what is the state of each reader on Line 1?
A. All three readers are still open.

B. All three readers have been closed.

C. The compilation fails.

D. Only readerl has been closed.

Answer: C

NEW QUESTION 37
Given:
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class ConSuper {
protected ConSuper () {
this(2):
System.out.print("1");

}
prctected CDnSuper{int a)i

System.out.print (a):;
}
}

and

public class ConSub extends ConSuper{
ConSub () {
this (4):
System.out.print ("3");
}
ConSub (int a) {
System.out.print (a):
}
public static void main (Stringl] args){
new ConSub (4);
}
}

What is the result?

A. 2134
B. 2143
C.214
D. 234

Answer: C

Explanation:

LYV SNIE

214
Completed with exit code: 0

NEW QUESTION 39
Given:

public class Person {

private String name;

public void setName (String name) {
sString title = "Dr. "“;
name = title+name;

}

public String toStraing() {
return name;

}
and

public class Test {
public static wvoid main(String args([]) {
Person p = new Person():;
p.setName ("Who") ;
System.out.println(p);

}

What is the result?
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UsUoO
>
o

>z
=

n exception is thrown at runtime.

nmoo®y

S
=

Answer: D

Explanation:

Console 1
inull

I«f:cmplc-tcd with exit code: 0

NEW QUESTION 41

Given:

¥ public class Secret {

2. String[] names;

3. public Secret(String[] names) {
4, this.names = names;

5. }

E. public String[] getNames() {

7. return names;

8. }

9. }

Which three actions implement Java SE security guidelines? (Choose three.)

A. Change line 7 to return names.clone();.

B. Change line 4 to this.names = names.clone();.

C. Change the getNames() method name to get$Names().

D. Change line 6 to public synchronized String[] getNames() {.
E. Change line 2 to private final String[] names;.

F. Change line 3 to private Secret(String[] names) {.

G. Change line 2 to protected volatile String[] names;.

Answer: EFG

NEW QUESTION 42
Given:

import java.io.FileNotFoundException;
import java.io.IOException;

public static voi in(String[] args)
try |{
doA();
} //line 1
}
private static void doA() throws IOException,
1f (false) {
throw new FileNotFoundException();
} else |
throw new IndexQutOfBoundsException();

}
What must be added in line 1 to compile this class?

A. catch(lIOException €) {}

B. catch(FileNotFoundException | IndexOutOfBoundsException €) { }

C. catch(FileNotFoundException | IOException €) { }

D. catch(IndexOutOfBoundsException e) { }catch(FileNotFoundException e) { }
E. catch(FileNotFoundException e) { }catch(IndexOutOfBoundsException €) { }
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Answer: A

NEW QUESTION 46
Given:

@Target (ElementType . METHOD)
@Retention (RetentionPolicy.RUNTIME)
public @interface AuthorInfo {
String author () default ““;
String date();
String[] comments() default {};
}

Which two are correct? (Choose two.)

A BAuthorInfo (date="1-1-2020", comments={ null })
public class Hello {
public void func() {}

[

@M e

ublic class Hello

AuthorInfo (date="1-1-2020. comments=“Hello")
public void func() {}

}

C. public class Hello {
@AuthoriInfo
public void func() {}

}
D. @authorInfo(date="1-1-2020")
public class Hello
public void func() {}

}

E. public class Hello {

fauthorInfol(date="1-1-2020", author="Gandhi”, comments={ “world"

public wvoid func () {}

A. Option A
B. Option B
C. Option C
D. Option D

Answer: CD

NEW QUESTION 51
Given the code fragment:

char[] [] arrays = {{'a', 'd'}, {'b', '&'}, {'c’,
for (char[] xx : arravs)
for (char yy : xx) {
System.out.praint(yy):

!fl}};

}
System.out.print (™ ");
}
What is the result?

A. ab cd ef

B. An ArraylndexOutOfBoundsException is thrown at runtime.
C. The compilation fails.

D. abc def

E. ad be cf

Answer: E

NEW QUESTION 54

Which two safely validate inputs? (Choose two.)

A. Delegate numeric range checking of values to the database.
B. Accept only valid characters and input values.

C. Use trusted domain-specific libraries to validate inputs.

D. Assume inputs have already been validated.

E. Modify the input values, as needed, to pass validation.

Answer: AB
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NEW QUESTION 57
Given the code fragment:

int[] sechA
int[] secB
int resl = Ar
int res2 = A
System.out.p

2, 4, 6, 8, 10 }:
2, 4, 8, 6, 10 }=;
yvs.mismatch (seck, secB):;
ys.compare (sechA, secB);
t(resl + " : "™ + res2);

|
M = e

What is the result?

NEW QUESTION 59
Which code fragment prints 100 random numbers?

A war r= new Randem();

new DoubleStream(r::nextDouble).limit(100).forEach(System.cut::print);

B. DoubleStream.generate (Randem: :nextDouble)
.limit (100).forFach(System.out::prin

i

)i
C. Doublestream.gensrate (Random,nextDouble).limit (100).forEach(System.out.print);

D. var r = new Random(); DoubleStream.generate (r::nextDouble).limit (100).forEach(System.out::print);

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 62
Which two statements are correct about modules in Java? (Choose two.)

A. java.base exports all of the Java platforms core packages.

B. module-info.java can be placed in any folder inside module-path.

C. A module must be declared in module-info.java file.

D. module-info.java cannot be empty.

E. By default, modules can access each other as long as they run in the same folder.

Answer: AC

NEW QUESTION 67
Given:
enum QUALITY {

2(100), B(75), C(50);

int percent;

private QUALITY (int percent) {
this.percent = percent;

}

and checkQuality(QUALITY.A); and
void checkQuality (QUALITY o) {

switch (qg) {
case /* Insert code here */
System.out.println (“Best”) ;
break;
default
System.out.println (“Not best”);
break;

}
Which code fragment can be inserted into the switch statement to print Best?

A. QUALITY.A.ValueOf()

B.A
C. A.toString()
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D. QUALITY.A

Answer: B

NEW QUESTION 71
Assume ds is a DataSource and the EMP table is defined appropriately.

try (Connection conn = ds.getConnection();
PreparedStatement ps = conn.prepareStatement (“INSERT INTO EMP VALUES(?, 2, ?)")) {
ps.setObject (1, 101, JDBCType.INTEGER);
ps.setlbject (2, “SMITH", JDBCType.VARCHAR);
ps.setObject (3, “HR", JDBCType.VARCHAR);
ps.executelpdate();
ps.setInt(l, 102);
ps.set8tring (2, “JONES");
ps.executelUpdate();

}

What does executing this code fragment do?

A. inserts two rows (101, 'SMITH', 'HR') and (102, 'JONES', NULL)
B. inserts two rows (101, 'SMITH', 'HR') and (102, 'JONES', 'HR")
C. inserts one row (101, 'SMITH', 'HR")

D. throws a SQLException

Answer: C

NEW QUESTION 76
Given:
public class Test
public static void main(Straing[] args) {

int X:
int y = 5;
1f (y > 2) {
X = ++y;
Y= X =+ 1;
} else |
' ki
}
System.out.print(x + " " + y);

}

What is the result?

A. compilation error

B.05
C.613
D.512
Answer: A
Explanation:
public class Test {
! public static void main (String[] args) {
int x:
int ¥ = 5;
if (v > 23 {
X = ++YI'
v = x + _,l';'
} else {

LI e
[@variable ® might not have been initialized]
[ ] System.cut.print{x + " "+v);
| }

3}

NEW QUESTION 77
Given:
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public c
int
int
int
int
int
int
int
int

int

}

lass DNASynth {
aCount;
tCount:
cCount;
gCount;

getACount (1nt aCount) {
return aCount:

getTCount (int tCount) {
return this.tCount;

getCCount () {
return getTotalCount () - this.aCount - getTCount (0) - gCount:

getGCount () {
return getGCount () ;

getTotalCount () {
return aCount + getTCount (0) + this.cCount + this.gCount:;

Which two methods facilitate valid ways to read instance fields? (Choose two.)

A. getTCount
B. getACount

C. getTotalCount

D. getCCount
E. getGCount

Answer: CD

NEW QUESTION 79

Given:

import java.util.function.BiFunction;
public class Pair<T> |

final

}

BiFunction<T; T; Boolean> validator;

T left = null;
right = null;
private Pair() {

L

ralidator=null;

Pair (BiFunction<T, T, Boolean> v, T x, T y) {

va
se

}

void s
if
se
se

}

void s

le

H

vaid s
ri

}

final

re

}

lidator = v
tix, y);

et (T %, T y) {

(!validator.apply(x, y)) throw new IllegalArgqumentException():
tLeft(x);
tRight(y);

etLeft (T x) {
it = x;

[

etRight (T y) {
ght = y;

boolean isValid() {
turn validator.apply(left, right):;

It is required that if p instanceof Pair then p.isValid() returns true.
Which is the smallest set of visibility changes to insure this requirement is met?

A. setlLeft and setRight must be protected.

B. left and right
C. isValid must

must be private.
be public.

D. left, right, setLeft, and setRight must be private.

Answer: B

NEW QUESTION 82
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Which three initialization statements are correct? (Choose three.)

A.intx =12_34;

B. short sh = (short)'A’;

C. String contact# = “(+2) (999) (232)";
D. boolean true = (4 == 4);

E. float x = 1.99;

F.int[][] e = {{1,1},{2,2}};

G. byte b = 10;char c = b;

Answer: ABF

NEW QUESTION 85

Given:
public class Main {
public static veid main(String[] args)
Consumer consumer = msg —> System.out::print;

consumer .accept ("Hello Lambda !%);

1
r
.

This code results in a compilation error.
Which code should be inserted on line 1 for a successful compilation?

A. Consumer consumer = msg -> { return System.out.print(msg); };
B. Consumer consumer = var arg > {System.out.print(arg);};

C. Consumer consumer = (String args) > System.out.print(args);
D. Consumer consumer = System.out::print;

Answer: D
Explanation:
1 1import java.util.*;
Z nport java.io.*;
3 nport java.nio.file.*;
4 o java.util.List,;
5 nport java.util. function.Consumer;
7~ pub 155 Main {
g~ publ tatic voird main(Stringl] args) {
18 Consumer consumer System.out: :print;
11 consumer .accept({"Hello Lambda '");
12 }
13 }

CommandLine Arguments

Result
CPU Time: 0.16 sec(s), Memory: 32896 Kkilobyte(s)

Hello Lambda !

NEW QUESTION 88
Given:

Passing Certification Exams Made Easy

line 1

visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy 1Z0-819 dumps

@ 2 P QsseaQs LJ https://www.2passeasy.com/dumps/120-819/ (175 New Questions)

1. public class Main {

2. public static woid greet (String... args) {
3. System.out.print ("Hello ");

4. for (String arg : args) {

5. System.out.println(arqg):;

6. }

L }

8. public static wvoid main(Stringl[] args) {
9. Main ¢ = null;

10. c.greet () ;

11. 3

12.

What is the result?

A. NullPointerException is thrown at line 4.
B. NullPointerException is thrown at line 10.
C. A compilation error occurs.

D. Hello

Answer: D

Explanation:

Console 4
hello
Completed with exit code: 0

NEW QUESTION 90

Given:

public interface A {
public Iterable a():

}

public interface B extends A {
public Collection af():

}

public interface C extends A {
public Path a():

Why does D cause a compilation error?

A. D inherits a() only from C.

B. D inherits a() from B and C but the return types are incompatible.
C. D extends more than one interface.

D. D does not define any method.

Answer: B

NEW QUESTION 93

Which two statements are true about Java modules? (Choose two.)

A. Modular jars loaded from --module-path are automatic modules.

B. Any named module can directly access all classes in an automatic module.

C. Classes found in —classpath are part of an unnamed module.

D. Modular jars loaded from —classpath are automatic modules.

E. If a package is defined in both the named module and the unnamed module, then the package in the unnamed module is ignored.
Answer: AC

NEW QUESTION 95
Given:
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public class Main
public static void main (String[] args)
Thread tl = new Thread(new MyThread()):
Thread t new Thread(new MyThread()):;
new Thread(new MyThread()):

L BS

Thread t

tl.start ()
t2.xruni();
t3.start():;

el

'I_r
F_
n
'I_1.
L
4
ct

}
class MyThread implements Runnable {
public wvoid run() {
System.out.println (“Running.”) ;
1

Which one is correct?

A. An lllegalThreadStateException is thrown at run time.
B. Three threads are created.

C. The compilation fails.

D. Four threads are created.

Answer: A

Explanation:

W W BRI W Pwf @Rl ITIREIENAWET s wFilk Il W PUETWRF LR &

Running.
Running.
Running.

Exception in thread "main™ java.lang.IllegalThreadStateException
at java.base/java.lang.Thread.start(Thread. java:794)
at Main.main{Main.java:12)

NEW QUESTION 99
Given:
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public class Person {
private String name;
public Person(String name) {
this.name = name;
}
public String toStringl()
return name;

and

public class Tester {

public static void main(String[] args) {
Person p = null;
checkPerson(p)
System.out.println (p):;
p = new Person("Mary"):
checkPerson(p)
System.out.printlin(p);

}

public static Person checkPerson(Person p)
if (p == null) {

p = new Person("Joe");
telse
p = null;
}
return p:
}
}
What is the result?
A. JoeMarry
B. Joenull
C. nullnull
D. nullMary
Answer: D
Explanation:
Console 1 * z * Console 3 *
null
Hary

Completed with exit code: 0

NEW QUESTION 102
Which statement about access modifiers is correct?

A. An instance variable can be declared with the static modifier.
B. A local variable can be declared with the final modifier.

C. An abstract method can be declared with the private modifier.
D. An inner class cannot be declared with the public modifier.

E. An interface can be declared with the protected modifier.

Answer: B

NEW QUESTION 107
Given:
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public class Foo {
private void print() {
System.out.println("Bonjour le monde!");
}
public wvoid foo() {
print () ;

public class Bar extends Foo {
private void print() {
System.out.println("Hello world!"™);

}
public void bar() {
print () ;
}
public static wvoid main(String... args) {
Bar b = new Bar():;
b.ftoal):
b.bar():
}

}

What is the output?

A. Hello world!Bonjour le monde!

B. Hello world!Hello world!

C. Bonjour le monde!Hello world!

D. Bonjour le monde!Bonjour le monde!

Answer: C
Explanation:

Console 1 » ) x

Bonjour le mondel
Hello world!

Completed with exit code: 0

NEW QUESTION 109
Given:

public class Test {
private String[] strings;
}

Which two constructors will compile and set the class field strings? (Choose two.)
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A
public Test (List<String> strings) {
this.strings = straings;
}
B.
public Test (String... strings)
SELrings = Strings;
C.
public Test (String... strings)
this.strings = strings;
}
D.
public Test (Straing strings)
strings = straings:;
}
E.
public Test (String[] strings) {
this.strings = straings;
]
A. Option A
B. Option B
C. Option C
D. Option D
E. Option E
Answer: CE

NEW QUESTION 114

Given the Person class with age and name along with getter and setter methods, and this code fragment:
List<Person> persons = new ArrayList(List.of(new Person(44,”Tom"”),
new Person (40, “Aman®™}),
new Person (40, “Peter®))):

persons.sort (Comparator.comparing((Person: :getiAge))

persons. forEach(pl->System.out.print ("

What will be the result?

A. Aman Tom Peter
B. Tom Aman Peter
C. Aman Peter Tom
D. Tom Peter Aman

Answer: C

NEW QUESTION 117
Given:
/code/a/Test.java containing:
rackage a:
import b.Best;
public class Test {
public static wvoid main(String[] args)
Best b = new Best();

}

and
/code/b/Best.java containing: package b;
public class Best { }

Which is the valid way to generate bytecode for all classes?
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A. java /code/a/Test.java

B. javac —d /code /code/a/Test

C. java /code/a/Test.java /code/b/Best.java

D. java —cp /code a.Test

E. javac —d /code /code/a/Test.java /code/b/Best.java
F. javac —d /code /code/a/Test.java

Answer: E

NEW QUESTION 120
Given:
public class X {

}

and
public final class Y extends X {

}

What is the result of compiling these two classes?

A. The compilation fails because there is no zero args constructor defined in class X.

B. The compilation fails because either class X or class Y needs to implement the toString() method.
C. The compilation fails because a final class cannot extend another class.

D. The compilation succeeds.

Answer: B

Explanation:

public ¢lass Main {
public static void main {String[] arg=s) {
(] pablic class X {

}
public final class Y extends X {

}
}

NEW QUESTION 122

Given:

public class Employee
private String name;

private String locality;

/* the constructor, getter and setter methods code goes here */

13
¥

and:
8. List<Employee> roster = new ArrayList<>();
9. long emplount = roster.streami)

10. /* insert code here */
11. System.out.print (empCount) ;

Which code, when inserted on line 10, prints the number of unique localities from the roster list?

A. .map(Employee::getLocality).distinct().count();

B. map(e > e.getLocality()).count();

C. .map(e > e.getLocality()).collect(Collectors.toSet()).count();
D. filter(Employee::getLocality).distinct().count();

Answer: D

NEW QUESTION 124
Given: _
pukblic class Employes {
private String name;
private LocalDate birthday:;
// the constructors, getters, and setters methods go here
}
and
List<Employee> roster = new ArrayList<>();
//
Predicate<Employese> yv = (Employee e) —> e.getBirthdavy ()
.isBefore(IsoChronology.INSTANCE.date (1%89, 1, 1))
Set«<String>» sl = roster.stream()
// Line 1

Which code fragment on line 1 makes the s1 set contain the names of all employees born before January 1, 19897
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A. .collect(Collectors.partitioningBy(y))
.get(true)
.Stream|()
.map (Employee: :getName)
.collect (Collectors.toCollection (TreeSet: :new))
B. .collect (Collectors.partitioningBy(y))

.get (true)

map (Employee: :getName)

.collect (Collectors.toSet());
C. .collect (Collectors.partitioningBy(y, Collectors.mapping {
Employee: igetName, Collectors.toSet()))):
D. .collect (Collectors.partitioningBy(y, Collectors.groupingBy (
Employee: :getName, Collectors.toCollection(TreeSet::new))));

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 127
var numbers = List.of(0,1,2,3,4,5,6,7,8,9);
You want to calculate the average of numbers. Which two codes will accomplish this? (Choose two.)

A. double avg = numbers.stream().parallel().averagingDouble(a > a);

B. double avg = numbers.parallelStream().mapTolnt (m > m).average().getAsDouble ();
C. double avg = numbers.stream().mapTolnt (i > i).average().parallel();

D. double avg = numbers.stream().average().getAsDouble();

E. double avg = numbers.stream().collect(Collectors.averagingDouble(n > n));

Answer: BD
Explanation:

import java.lo.*;

import java.until.¥*;

class Hello {

public static veoid main({String[] args) {

var numbers List.of{0,1,2,3,4,5,6,7,8,9);
double awvyg numbers.parallelStream() . .mapToInt (m -> m).average{).gekthsDouble();

}

NEW QUESTION 129
Given:

public class Sportscar extends Automobile/
private float turbo;
public void setTurbo (float turbo) {
this.turbo = turbo;

}
What is known about the Sportscar class?
A. The Sportscar class is a subclass of Automobile and inherits its methods.
B. The Sportscar subclass cannot override setTurbo method from the superclass Automobile.
C. The Sportscar class is a superclass that has more functionality than the Automobile class.
D. The Sportscar class inherits the setTurbo method from the superclass Automobile.
Answer: A

NEW QUESTION 133
Given:
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public class Hello {
public static void ma

executed using command:
java Hello “Hello World” Hello World What is the output?

A. An exception is thrown at runtime.
B. Hello WorldHello World

C. Hello World Hello World

D. Hello WorldHelloWorld

E. HelloHello WorldHelloworld

Answer: C

NEW QUESTION 136
Given:
List<Reader> dataFiles = new ArrayList<>();
File indexFile = new File (“"MyIndex.idx");
try (BufferedReader indexReader =
new BufferedBReader (new FileReader (indexFile)))} {

for(String file = indexReader.readbine(); file != null;
file = indexReader.readLine()) {
BufferedBReader dataBeader = new BufferedBeader |

new FileReader (new File(file))); // Line 1
dataFiles.add(dataReader); // Line 2
processData (dataBeader); // Line 3

}

} catch (IOException ex) {

¥ finally {
for (Reader r : dataFiles) {
try {
r.close():
} catch (IOException ex) (

vy /S Line 4

}

What will secure this code from a potential Denial of Service condition?

A. After Line 4, add indexReader.close().

B. On Line 3, enclose processData(dataReader) with try with resources.

C. After Line 3, add dataReader.close().

D. On Line 1, use try with resources when opening each dataReader.

E. Before Line 1, check the size of dataFiles to make sure it does not exceed a threshold.

Answer: B

NEW QUESTION 137
Which three annotation uses are valid? (Choose three.)

A. Function<String, String> func = (@NonNull x) > x.toUpperCase();

B. var v = “Hello” + (@Interned) “World”

C. Function<String, String> func = (var @NonNull x) > x.toUpperCase();
D. Function<String, String> func = (@NonNull var x) > x.toUpperCase();
E. var myString = (@NonNull String) str;

F. var obj = new @Interned MyObject();

Answer: ACF

NEW QUESTION 141
Which code fragment compiles?
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A Comparator comparator = new Comparator<?>() {
public int compare (Integer i, Integer j) {
return i.compareTo(j):
b
}i
B. wvar comparator = new Camparator<>() {
public int compare(Integer i, Integer j) {
return i.compareTo(]):
}
}i:

C. Comparator<> comparator = new Ccmparator<Integer>()
public int compare (Integer i, Integer j) {
return i.compareTo(j):
}
}:
D. Comparator<Integer> comparator = new Comparator<>()
public int compare (Integer 1, Integer 3j) {
return i.compareTo(j);

o

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

Explanation:

| import java.io.*;
2 import java.util.*;
i class abec {
public static void main(String([] args) {

Comparator<Integer> comparator = new Comparator<>() {
public int compare({Integer i, Integer j) {
A return i.compareTo(j);

NEW QUESTION 142
Given:

public class Price {

private final double value;

public Price(String value) {
this(Double.parseDouble (value));

}

public Price(double value) ({
this.value = value;

}

public Price () {}

public double getValue() { return value; }

public static void main(String[] args) {

Price pl = new Price("1.99");
Price p2 = new Price(2.99);
Price p3 = new Pricel();

System.out.println(pl.getValue()+", "+p2.getValue()+","+p3.getValue());

}

What is the result?
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A. The compilation fail
B. 1.99,2.99,0

C. 1.99,2.99,0.0

D. 1.99,2.99

Answer: A

Explanation:

public class Price {

private final double value;

public Price(String value) {
this(Double.parseDouble (value));

}

public Price(double value) {
this.value value;

ajibvariahle value might not have been initialized]

pubLlic Price [J1F

public double getWalue() { return wvalue; }

public static void main (String[] args)
Price pl new Price("1.93");
Price p2 = new Price("2.99");
Price p3 new Price[h:

System.out.println(pl.getValue()+", "+p2.getValue()+", " "+pl.getValue());

NEW QUESTION 144
Given:

List<String> listl = new LinkedList<String>():
Set<String> hsl = new HashSet«<String>():
String[] A e S L Ll
for (String s: wv) {

ligstl.addi{s)

hsl.add({s}:
}

System.out.print (hsl.size{}) + ™ ™ + listl.size() + ™ “};

HashSet hs2 = new HashSet {listl);
LinkedlList listZ = new LinkedList (hsl);
System.out.print {hs2.size() + ™ ™ + list2.size());

What is the result?
A.3533
B.3333
C.3535
D.5533

Answer: A

Explanation:

Passing Certification Exams Made Easy

visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy 1Z0-819 dumps

@ 2 P QsseaQs ":J https://www.2passeasy.com/dumps/120-819/ (175 New Questions)

1 nport java.util.®;
P port java.io.";
rt java.lang.Thread;

4 java.util.ArrayList;

5 t java.util.lLinkedList;

b t java.util.List;

7 rt java.util.function.Consumer;
B t java.util.stream.Stream;

9 port java.util.stream.IntStream;
) java.util.Optional;

13~ public ass Main {
14 ~ public static void main(String[] args) {
15 List<String> listl new LinkedList<5tring>();
16 Set<5tring> hsl new HashSet<5String>(),
17 String[] v £'8%; "9, e, "B "avE
18 - for (5tring s: v) {
19 listl.add(s);
20 hsl.add(s);
21 }
2l System.out.printlnChsl.size() + "" + listl.size()
23 HashSet hs2 new HashSet(listl):
24 LinkedList list2 ew LinkedList(hsl);
: System.out.print(hs2.size() + " + list2.size());
7 }
& }
Result

CPU Time: 0.28 sec(s). Memory: 36204 kilobvte(s)

35

33

NEW QUESTION 147
Which code is correct?

A. Runnable r = “Message” > System.out.printin();

B. Runnable r = () > System.out::print;

C. Runnable r = () -> {System.out.printin(“Message”);};
D. Runnable r = > System.out.printin(“Message”);

E. Runnable r = {System.out.printin(“Message”)};

Answer: C

NEW QUESTION 152
Given this enum declaration:

1. enum Alphabet |
2. L, B, C

3.

4.}

Examine this code: System.out.printin(Alphabet.getFirstLetter());
What code should be written at line 3 to make this code print A?

A. final String getFirstLetter() { return A.toString(); }

B. static String getFirstLetter() { return Alphabet.values()[1].toString(); }
C. static String getFirstLetter() { return A.toString(); }

D. String getFirstLetter() { return A.toString(); }

Answer: C

NEW QUESTION 153
Given:
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public class Foo {
public static void main(String... args) {
for (var x : args) {
System.out.println(x):;

}

What is the type of the local variable x?

A. Character
B. char

C. String[ ]
D. String

Answer: D

NEW QUESTION 157
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